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Foundation stage:

Children can begin to subtract 1 or 2 objects from numbers up
Lo 10.

Key Yocabulary
“less than




How many left? (2)

o Match the counters to the number sentences.

) d{d

®
&%

00
(1]

o %8

e Cross out the counters to show the subtraction.

a)

b)

(&

24

Childrven can subtract within 1o0.

o There are 10 cars in a car park.

88088
88888

4 cars leave.

How many cars are left in the car park?

3\
o

mAr

W

o Ann and Tom have 9 strawberries in total.

Ann eats 2 strawberries and Tom eats
1 strawberry.

How many strawberries do they

have left?

o Complete the subtractions.

a) 4-3=

b)

1

=7-4

) 5-3=| -

d)

=6-1

€

\/2:

Kevy Vocabulary
less than, count back




Children can use different methods to subtract 2 two-digit

Subtract 2-digit numbers (1)

o Complete the sentences to describe each step

of the subtraction.

First the number is |
sesss
e s e
e

Then is crossed out.

O 888

Now the number is | / -

less than,

numbers.

© Draw base 10 to represent the number 35 2\5

° Jack is working out 47 - 15

30+2=32
47 -15=32

Ze

Now cross out 12
What number is left?

Talk about Jack’s method with a partner.

Use Jack’s method to complete the calculations.

[5
@ @ar-16=3/ | g 3-15=

b) 36 - 22 =] /QN‘ d) 57 -31=

© Use bose 10 to complete the subtractions.

a) 7-2 e 48-11=

b) 30 - 10 f 27-16=

[~ R © complete the subtractions.
5] 37_12:L"' g) 63 - 61 =|—< @ b

h) 45 - 3:

CIIR]

oy Py
~no
Yy Y
~inlo

d) 47 - 12

s
:

Key Vocabulary
count back, subtract,

e

] d)

Wi -
Isl~io

o
3

-/ © rosie has 25 balloons.

JIJJJ

Scott has 11 fewer balloons than Rosie.

How many balloons does Scott have?

[1e]

How many balloons do they have altogether?  \oy)
o/

34,

take away



Children can use column subtraction to subtract numbers up to
three digits.

Key Yocabulary
less than, count
back, subtract, take
away, exchange

5



Children can use column subtraction to subtract four-digit
numbers.

XKey VYocabulary
less than, count back,
subtract, take away,

exchange, difference




Children can use column subtraction to subtract numbers with
more than four digits.

e Question 8 m
Subtract 31,184 from 73,405.
I

o s000cCe
. .....O.

. O....O.

rl:

XKey Yocabulary
less than, count back, Suﬁtract
take away, exchange,

difference, value

sceecce
o osoeec e

5



Children can use the order or operations to solve calculations
including subtraction.

e sions b [B[E] e « aesions » EE
IWha (o-3y | 2] - T4 = (] O — 3) Which panofmer;o\\owingca\culalion do
1 B[
C e =21 14+ 7 N
@ oveenCe 4+

@ eveenCe

800680 . I DM A S

-------

rl

Key Vocabulary

A less than, count back, subtract,
PPy <0 -3x5-2x10=[H take away, exchange,

difference, value, BIDMAS

Mastery:




Children can solve multi-step subtraction problems.

& o @R awiens s B

The numbers in the three circles total the ::;:nl( i mg::,‘:g‘g;

number in the square. What is the missing e valug

number?

- | [Answer- | A=
35,152 - [} =

sseecow
e s500:00

sseecce
e sseecie

+ 12,469 = 15,310

Key Yocabulary
less than, count back, subtract,
take away, exchange,
difference, value, BTDMAS,
inverse

bottle of juice.
How much does a bottle of juice cost?

include the £ sign in your answer.

o scescoe
o eseenCe

00880

iz



